£ [} o * 28 o & #
7€ *‘Q .':.; . ), 3 - ) | :iﬁ_, 2 A fﬁl"
> ~> &
Conn = W Coin = Cc

cC = \ ‘6 m/s 1{ A TN
> |
% = O 6 ‘\"\Hi":""ff‘:i‘khf;;"_ K \b 33( kol

ek s\lradh
_ Doy (- EPame _ U £ v 1
\W‘\? PW"\‘? P?UMP P\NMQ .
ey

S
SIER A SN § *Pty
=& ) . .

| PPt (Bh=0] (<2



Tf‘jdf— A

PG\E\“

i

%Gt Flage

L.=2000m

k:okn\\(\sar — k«:)c\cc‘c miasacr

—< )

5P, T &/\\’;_ T Z;\EJ E-Z Y

—

o

023 b «Pa

\ ‘oor

2. OGO

—r

0.0

~N

~o

0 H.O0

—
—_—

—

).
+ \%-0 6)

K’i \ MPO\\)

B ok konenon ng ol Mo W edlel
‘r\m\'\%\@\c@r\ Lok H\ﬁ(/‘dm\\ oW |

v APoie

L pmp

{

{

Wasn&

—

|\ 5.

A
=k 4

3
G 0B (10

0.9



© | oh=720m <:=8a 10 ,
A = 0O\ Sm ? = QO \% (W0
- - P
(SN ?W\ W
<dck % e WA
£.-P gk
My = =3 % (aha) * S 4
?O) 7—6) S;’u_»
Po\,(m—_'\?\ P, Q\=¢L ™
e
- 30+ AP
9
N J .
C = el S56. 2%V
A o g O

¢t
op, = (A5 Z\“SJ — ¢ "

\

ko‘(ﬂ%‘ - -

2707 A5V -
> . 1000

s W
. o
- =7 3.0 Y= 148010 Jt

a8V E .
o= 20~ = f - 20 4+ 2N6.0V7
S X0 - 4.9\

\)



m
O —v 0.0 T

i’ (\mg/s } \'\355 L‘m Ur\zo\]
0 30
6.0L 2022
0.0R 1.3
e Ho 9%
&
(m(\-h_o')) ‘//
AR
' ' b :
! { «o) 1 x
0.0 ot (.05 Vo2
Tiee e Hdgel W e Vo L
: 3 , : o ™
K?\ck V=00 &= —o vl V=605T>

Bor NoVkals reay 2o, () &y pmen rowr ke
\axreen ko \n%lt tydk, G\W\Qr‘c on W 33“'0\‘7
ot |



